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Warm Up
1.  What is the slope of the segment with endpoints at (-7, 4)
d 4, -7)?
an ( 5 ) m— \/‘)-—/, _-;_i‘~'|
o=, H--"7 !
. 531079 =,
2. Add: L O}{ 1 6} [Z G (::)
)*’3

3. Multiply:
L; z;\

9-3 Reflections

Reflection - F \ .
P

e @

\

Line of reflection - B

e @ ® @° o o

Cop @ePe 6 © & o6



9-3 Notes.notebook March 07, 2013

Ex 1  The vertices of triangle DEF are D(0, 2), E(1, 4),
and F(3, 1). Graph the reflection described.
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Ex2  The endpoints of 4B are A(3, 2) and B(4, 1). Reflect
the segment in the liney = x.
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Ex 3

Reflect ABin the liney = -x

March 07, 2013

The endpoints of 4pare A(3, 2) and B(4, 1)

Y= -] x+0
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Reflection and Rotation Matricies

Reflect across thex-axis: multiply by
Reflect across they-axis: multiply by
Rotate 90 degrees: multiply by
Rotate 180 degrees: multiply by
Rotate 270 degrees: multiply by

Rotate 360 degrees: multiply by
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Ex4  Triangle POR: (-3,6) (-5,3) (-1,2)

Reflect this across they-axis

Ex5 Triangle RST: (-1, 1) (-3,3) (-4, 2)

Reflect this across the x-axis
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Ex. 6  The vertices of AABC are A(S, 3), B(2, 8), and C(1, 1).
Reflect AABC in the y-axis.

Then reflect AA'B'C' in the line y = 2.
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